Fort Bend County Tabulation Bid 15-065 Paving, Drainage, and Water Line for Sansbury Blvd Grand Estates Drive to Canyon Lake Drive

Awarded 4/14/2015: Rodriguez Construction Group Funding: 2013 Mobility and Car Max

Vendor	Bid Price	Completion Time in Calendar Days			
Gonzalez Construction Enterprise, Inc.	\$1,099,330.58, low bidder not				
Rosenberg	recommended due t	to past performance;			
	Liquidated damages	s accessed on Mason			
	Road	Project			
Rodriguez Construction Group	\$1,153,196.50	90			
Stafford					
Transtex Construction	\$1,161,337.00	not stated			
Pattison					
Meiners Construction	\$1,355,356.00	not stated			
The Woodlands					
Conrad Construction	\$1,517,466.00	90			
Houston					
Triple B Services	Disqualified: Failed to provided required				
Huffman	references.				

Bid 15-065 Sansbury Blvd

				Rodriguez Co	nstruction	Transtex Construction		struction Meiners Construction		Conrad Construction		
Bid Item Number	Quantity	Unit	Bid Item Description and Written Unit Price Written in Words	Unit Price	Amount Bid	Unit Price	Amount Bid	Unit Price	Amount Bid	Unit Price	Amount Bid	
Section I:	Pavement	Marki	ngs, Paving & Miscellaneous Items									
1	1	LS	Storm Water PPP Installation and Maintenance complete and in place in accordance with drawings and specifications	\$3,360.00	\$3,360.00	\$4,000.00	\$4,000.00	\$12,500.00	\$12,500.00	\$3,000.00	\$3,000.00	
1A	1	LS	Clearing and Grubbing complete and in place in accordance with drawings and specifications	\$58,257.89	\$58,257.89	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$50,000.00	\$50,000.00	
2	3007	CY	Roadway Excavation including Stripping complete and in place in accordance with drawings and specifications	\$6.16	\$18,523.12	\$13.00	\$39,091.00	\$6.00	\$18,042.00	\$8.00	\$24,056.00	
3	5	SY	Removing Concrete (Sidewalk/Ramp)(All Widths) complete and in place in accordance with drawings and specifications	\$112.00	\$560.00	\$300.00	\$1,500.00	\$310.00	\$1,550.00	\$100.00	\$500.00	
4	9862	SY	Lime Stabilized Subgrade Manipulation to 8" Depth complete and in place in accordance with drawings and specifications	\$2.80	\$27,613.60	\$3.00	\$29,586.00	\$2.50	\$24,655.00	\$3.00	\$0.00 \$29,586.00	
5	281	TON	Lime for Subgrade Stabilization complete and in place in accordance with drawings and specifications	\$184.80	\$51,928.80	\$165.00	\$46,365.00	\$240.00	\$67,440.00	\$165.00	\$46,365.00	
6	8511	SY	Furnish and install Reinforced Concrete Pavement (8") complete and in place in accordance with drawings and specifications	\$47.04	\$400,357.44	\$51.00	\$434,061.00	\$61.00	\$519,171.00	\$65.00	\$553,215.00	
6A	1	EA	Type 7 Ramp complete and in place in accordance with drawings and specifications	\$1,120.00	\$1,120.00	\$1,700.00	\$1,700.00	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	
7	6000	LF	Furnish and install Curb (Type II) complete and in place in accordance with drawings and specifications	\$2.63	\$15,780.00	\$3.25	\$19,500.00	\$6.00	\$36,000.00	\$3.00	\$18,000.00	
8	15030	SF	Furnish and install Concrete Sidewalks (5') (6")complete and in place in accordance with drawings and specifications	\$4.76	\$71,542.80	\$5.40	\$81,162.00	\$8.00	\$120,240.00	\$6.50	\$97,695.00	
9	3	МО	Traffic Control Plan complete and in place in accordance with drawings and specifications	\$1,120.00	\$3,360.00	\$1,000.00	\$3,000.00	\$1,225.00	\$3,675.00	\$20,000.00	\$60,000.00	
10	1170	LF	Furnish and install Reflective Pavement Markers TY 1 (W) (4") (BRK) (100 mil) complete and in place in accordance with drawings and specifications	\$2.24	\$2,620.80	\$0.80	\$936.00	\$1.00	\$1,170.00	\$1.00	\$1,170.00	
11	40	LF	Furnish and install Reflective Pavement Markers TY 1 (W) (4") (SLD) (100 mil) complete and in place in accordance with drawings and specifications	\$2.24	\$89.60	\$0.80	\$32.00	\$1.00	\$40.00	\$5.00	\$200.00	
12	240	LF	Furnish and install Reflective Pavement Markers TY 1 (W) (8") (SLD) (100 mil) complete and in place in accordance with drawings and specifications	\$4.48	\$1,075.20	\$1.60	\$384.00	\$2.00	\$480.00	\$2.00	\$480.00	
13	40	LF	Furnish and install Reflective Pavement Markers TY 1 (W) (24") (SLD) (100 mil) complete and in place in accordance with drawings and specifications	\$13.44	\$537.60	\$9.00	\$360.00	\$10.00	\$400.00	\$10.00	\$400.00	
14	2	EA	Furnish and install Reflective Pavement Markers TY 1 (W) (ARROW) (100 mil) complete and in place in accordance with drawings and specifications	\$280.00	\$560.00	\$172.00	\$344.00	\$185.00	\$370.00	\$200.00	\$400.00	
15	2	EA	Furnish and install Reflective Pavement Markers TY 1 (W) (WORD) (100 mil) complete and in place in accordance with drawings and specifications	\$280.00	\$560.00	\$200.00	\$400.00	\$215.00	\$430.00	\$200.00	\$400.00	
16	130	EA	REFL PAV MRK TY II-C-R complete and in place in accordance with drawings and specifications	\$6.72	\$873.60	\$4.60	\$598.00	\$5.00	\$650.00	\$5.00	\$650.00	

Bid 15-065 Sansbury Blvd

Bid Item Number	Quantity	Unit	Bid Item Description and Written Unit Price Written in Words	Unit Price	Amount Bid	Unit Price	Amount Bid	Unit Price	Amount Bid	Unit Price	Amount Bid
17	56	EA	NON-REFLEC TRAFFIC BUTTON (W) complete and in place in accordance with drawings and specifications	\$5.60	\$313.60	\$5.00	\$280.00	\$5.00	\$280.00	\$5.00	\$280.00
18	2	EA	Furnish and install Pavement surface preparation for markers (BLAST CLN) (ARROW) complete and in place in accordance with drawings and specifications	\$28.00	\$56.00	\$30.00	\$60.00	\$30.00	\$60.00	\$50.00	\$100.00
19	2	EA	Furnish and install Pavement surface preparation for markers (BLAST CLN) (WORD) complete and in place in accordance with drawings and specifications	\$28.00	\$56.00	\$30.00	\$60.00	\$30.00	\$60.00	\$50.00	\$100.00
20	1210	LF	Furnish and install Pavement surface preparation for markers (4") complete and in place in accordance with drawings and specifications	\$0.56	\$677.60	\$0.30	\$363.00	\$1.00	\$1,210.00	\$0.50	\$605.00
21	40	LF	Furnish and install Pavement surface preparation for markers (24") complete and in place in accordance with drawings and specifications	\$3.36	\$134.40	\$1.60	\$64.00	\$2.00	\$80.00	\$5.00	\$200.00
22	240	LF	Furnish and install Pavement surface preparation for markers (8") complete and in place in accordance with drawings and specifications	\$1.12	\$268.80	\$0.60	\$144.00	\$1.00	\$240.00	\$0.50	\$120.00
23	4	EA	Furnish and install Aluminum Signs complete and in place in accordance with drawings and specifications	\$448.00	\$1,792.00	\$600.00	\$2,400.00	\$630.00	\$2,520.00	\$250.00	\$1,000.00
24	1	LS	Remove existing Stop Bar, Turn Arrows, Existing Directional Sign (W1-6), and Yellow Turn Lane Stripping complete and in place in accordance with drawings and specifications	\$560.00	\$560.00	\$6,400.00	\$6,400.00	\$6,900.00	\$6,900.00	\$1,750.00	\$1,750.00
25	450	LF	Reflectorized Paint for Esplanade (ER-ER) complete and in place in accordance with drawings and specifications	\$2.80	\$1,260.00	\$1.40	\$630.00	\$2.00	\$900.00	\$2.00	\$900.00
26	2	AC	Hydromulch seeding complete and in place in accordance with drawings and specifications	\$1,680.00	\$3,360.00	\$1,900.00	\$3,800.00	\$1,600.00	\$3,200.00	\$1,500.00	\$3,000.00
Section I:P	avement]	Markin	sgs, Paving & Miscellaneous Items	Subtotal Bid:	\$667,198.85	_	\$677,720.00	_	\$826,063.00	_	\$895,672.00
Section II:	Storm Se	wer									
27	358	LF	24-Inch C76, Class III Circular Reinforced Concrete Pipe complete and in place in accordance with drawings and specifications	\$59.36	\$21,250.88	\$60.00	\$21,480.00	\$59.00	\$21,122.00	\$85.00	\$30,430.00
28	367	LF	36-Inch C76, Class III Circular Reinforced Concrete Pipe complete and in place in accordance with drawings and specifications	\$102.37	\$37,569.79	\$100.00	\$36,700.00	\$96.00	\$35,232.00	\$140.00	\$51,380.00
29	293	LF	48-Inch C76, Class III Circular Reinforced Concrete Pipe complete and in place in accordance with drawings and specifications	\$160.50	\$47,026.50	\$145.00	\$42,485.00	\$139.00	\$40,727.00	\$200.00	\$58,600.00
30	332	LF	60-Inch C76, Class III Circular Reinforced Concrete Pipe complete and in place in accordance with drawings and specifications	\$244.08	\$81,034.56	\$217.00	\$72,044.00	\$213.00	\$70,716.00	\$295.00	\$97,940.00
31	30	LF	5'x4' Reinforced Concrete Box Sewers complete and in place in accordance with drawings and specifications	\$308.67	\$9,260.10	\$286.00	\$8,580.00	\$287.00	\$8,610.00	\$375.00	\$11,250.00
32	92	LF	5'x4' Reinforced Concrete Box Sewers (Bore & Jack) complete and in place in accordance with drawings and specifications	\$940.80	\$86,553.60	\$850.00	\$78,200.00	\$1,500.00	\$138,000.00	\$800.00	\$73,600.00
33	4	EA	Type "E" Storm Sewer Inlets complete and in place in accordance with drawings and specifications	\$1,792.00	\$7,168.00	\$3,700.00	\$14,800.00	\$2,500.00	\$10,000.00	\$2,850.00	\$11,400.00
34	4	EA		\$2,240.00	\$8,960.00	\$2,200.00	\$8,800.00	\$2,600.00	\$10,400.00	\$2,750.00	\$11,000.00

Bid 15-065 Sansbury Blvd

Bid Item Number	Quantity	Unit	Bid Item Description and Written Unit Price Written in Words	Unit Price	Amount Bid	Unit Price	Amount Bid	Unit Price	Amount Bid	Unit Price	Amount Bid
rumber											
35	4	EA	Precast Concrete Manhole complete and in place in accordance with drawings and specifications	\$3,920.00	\$15,680.00	\$3,300.00	\$13,200.00	\$4,800.00	\$19,200.00	\$5,300.00	\$21,200.00
36	1	EA	Manhole on Existing Box Storm Sewer complete and in place in accordance with drawings and specifications	\$1,680.00	\$1,680.00	\$6,500.00	\$6,500.00	\$4,200.00	\$4,200.00	\$6,300.00	\$6,300.00
37	1380	LF	Trench Safety System for Storm Sewer complete and in place in accordance with drawings and specifications	\$0.11	\$151.80	\$1.00	\$1,380.00	\$1.00	\$1,380.00	\$1.00	\$1,380.00
Section II:	Storm Se	wer		Subtotal Bid:	\$316,335.23	_	\$304,169.00		\$359,587.00	_	\$374,480.00
Section III	• WaterI i	ina Ita	ne								
38	1514		12-In C-900 Watermain (Open Cut) complete and in place in accordance with drawings	\$26.82	\$40,605.48	\$31.00	\$46,934.00	\$28.00	\$42,392.00	\$75.00	\$113,550.00
39	5	EA	and specifications Fire Hydrants, Complete Assembly, Includes Hydrant, 6" Gate Valve and Box, Tee, 6" FH Lead, and Restrained Fittings complete and in place in accordance with drawings and specifications	\$4,446.40	\$22,232.00	\$4,800.00	\$24,000.00	\$3,800.00	\$19,000.00	\$4,750.00	\$23,750.00
40	1	EA	12-in Gate Valve Complete and in place in accordance with drawings and specifications	\$2,206.40	\$2,206.40	\$2,200.00	\$2,200.00	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00
41	1	EA	12-in Wet Connect complete and in place in accordance with drawings and specifications	\$952.00	\$952.00	\$1,300.00	\$1,300.00	\$1,100.00	\$1,100.00	\$2,500.00	\$2,500.00
42	1514	LF	Trench Safety System for Water complete and in place in accordance with drawings and specifications	\$0.11	\$166.54	\$1.00	\$1,514.00	\$1.00	\$1,514.00	\$1.00	\$1,514.00
Section III	: Waterlii	ne Item	s	Subtotal Bid:	\$66,162.42		\$75,948.00		\$66,206.00		\$143,814.00
Suppleme	ntal Items					_		_		_	
1	2500	LF	Well point systems, when approved	\$25.00	\$62,500.00	\$25.00	\$62,500.00	\$25.00	\$62,500.00	\$25.00	\$62,500.00
2	500	CY	Extra bank sand backfill, when approved	\$12.00	\$6,000.00	\$12.00	\$6,000.00	\$12.00	\$6,000.00	\$12.00	\$6,000.00
3	500	CY	Extra cement stabilized sand, when approved	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00
4	1000	CY	Special excavation, when approved	\$5.00	\$5,000.00	\$5.00	\$5,000.00	\$5.00	\$5,000.00	\$5.00	\$0.00 \$5,000.00
5	750	LF	Additional cost for alternate storm sewer bedding in unsatisfactory soil conditions, if approved	\$30.00	\$22,500.00	\$30.00	\$22,500.00	\$30.00	\$22,500.00	\$30.00	\$0.00 \$22,500.00
Suppleme	tal Items			Subtotal Bid:	\$103,500.00	_	\$103,500.00	_	\$103,500.00	_	\$103,500.00
				I							

Bid Item Quantity Unit Number	Bid Item Description and Written Unit Price Written in Words	Unit Price Amount Bid			
Section I: Base Bid for Pavement Marl	kings Paving & Miscellaneous Items				
(Items 1 through 26)	Subtotal Bid:	\$667,198.85	\$677,720.00	\$826,063.00	\$895,672.00
Section II: Base Bid Storm Sewer (Items 27 through item 37)	Subtotal Bid:	\$316,335.23	\$304,169.00	\$359,587.00	\$374,480.00
Section III: Base Bid Waterline Item Item (38 through item 42)	Subtotal Bid:	\$66,162.42	\$75,948.00	\$66,206.00	\$143,814.00
	Base Bid Subtotal:	\$1,049,696.50	\$1,057,837.00	\$1,251,856.00	\$1,413,966.00
Supplemental Bid Items	Subtotal Bid:	\$103,500.00	\$103,500.00	\$103,500.00	\$103,500.00
	Total Ammount Bid:	\$1,153,196.50	\$1,161,337.00	\$1,355,356.00	\$1,517,466.00